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D= ﬂ :[Mass DenSity ] (Go.p 'o)_?) &50)’0 W|a *
%

Unit: kg/m?
Dimension: ML-3
8 Typical values at p=1.013x10° N/m?, T=288.15 K:

¢ Water: 1000 kg/m?
@ Air: 1.23 kg/m?

oo

w=pg :[specific weight] (_pgatco (y3)g) 539 dmmils ¥
g8 Unit:N/m?
Dimension: ML2T-2
8 Typical values :
@ Water: 9.81x10° N/m3
@ Air: 12.07 N/m?

n

“

(394 03 o0liiusl Ygoze 135 (1) :[Relative density | s dimmdls ¥

0= psubstance/ pwater@4°c
8 Unit: no unit
8 Dimension: M° LT'=1
g8 Typical values :
® Water: 1
@ oil: 0.9
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[viscosity] c>y @
:[Dynamic viscosity | Swolos eyl ¥

forc7
= T _ area
du velocity
y distance
2 Unit: Ns/m? or kg/ms; poise (P); 10 P=1 kg/ms force x time
# Dimension: ML-'T"! = rea

g Typical values :
@ Water: 1.14x103 kg/ms . mass
@ Air: 1.78x10% kg/ms 0 length x time

[kinematic viscosity] Suiloiow <>y ¥

v=£

o,
1 Unit: m?/s or stokes (St); 10 St=1 m?/s
Dimension: L2T-!

g Typical values :

¢ Water: 1.14x10°% m2 /s
@ Air: 1.46x10°5 m?/s
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Internal diameter of tube (mm)
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Capillary rise (mm)
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1 Unit: N/m2
1 Dimension: ML-1T-2

8 Typical values:
¢ Water: 2.05x10° N/m?
@ Oil : 1.62x10° N/m?
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d d 6
K:p—p K:y—p 2.4x10° x10° =10.22219
dp dy dy
90 KN KN
dy=10.2 =0.38— =10.2+0.38=10.58—
4 2.4%10° m’ & m’




